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=ERZKECRANT 3.25 2.00 0. 00 1. 00 201.0 0.0 0. 201. 37, 258. 0 TAZ 7V R
142.2 0~  142. 0 3.25 0. 00 0.75
Al
“HERZKESKENT 3.25 2.30 0. 00 0.75 110.0 0.0 0. 110. 37, 368.0 T AT 7V b
142. 4 0~ 142 5 3.25 0. 00 2.75
A e
=ERZKECRANT 3.25 2. 50 0. 00 0.75 60.0 0.0 0. 60. 37,428.0 TAZ 7V R
142.5 5~  142. 65 3.25 0. 00 0. 65
Al
“HERZKESKENT 6. 50 2.30 0. 00 0. 50 29.0 0.0 0. 29. 37,457.0 T AT 7V b
142.5 65 ~  142. 0 3.25 0. 00 0. 65
A e
=ERZKECRANT 6.50 2. 40 0. 00 0.50 217.0 0.0 0. 217. 37,674.0 TAZ 7V R
142. 6 0~  142. 0 3.25 0. 00 0. 65
Al
“HERZKESKENT 6. 50 2.30 0. 00 0. 50 185.0 0.0 0. 185. 37,859.0 T AT 7V b
142.8 0~  143. 5 3.25 0. 00 1.25
A
=ERZKECRENT 6. 20 2.30 0. 00 0.80 60.0 0.0 0. 60. 37,919.0 TAZ 7V R
143.0 5~  143. 65 3.25 0. 00 1.25
Al
“HERZKESKENT 3.25 2.30 0. 00 0.75 136.0 0.0 0. 136. 38, 055. 0 T AT 7V b
143.0 65 ~  143. 0 3.25 0. 00 1.25
A
=HERZKECRANT 3.25 0. 00 0. 00 1. 00 208. 0 0.0 0. 208. 38, 263. 0 TAZ 7V R
143.2 0~  143. 0 3.25 0. 00 0.75
Al
“HERZKESRENT 3.25 0. 00 0. 00 0. 50 26.0 0.0 105. 131. 38, 394. 0 T AT 7V b
143. 4 0~  143. 39 3.25 0. 00 0. 50
A
S EIRS TR AT 3.25 0. 00 0. 00 0.75 927.0 0.0 0. 27. 38, 421, 0| 7 7V Pl
143.5 39 ~  143. 66 3.25 0. 00 0.75
Al
“HERZKERENT 3.50 0. 00 0. 00 0.75 30.0 0.0 0. 30. 38,451.0 T AT 7V b
143.5 66 ~  143. 0 3.50 0. 00 0.75
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“HERZKESKENT 3. 60 0. 00 0. 00 0.75 154.0 0.0 0.0 154.0[  38,605.0 TAZ TV N
143.6 0~  143.7 51 3. 60 0. 00 0.75
A e
=ERZKECRANT 3. 50 0. 00 0. 00 0.75 25.0 0.0 0.0 25.0 38, 630. 0 TAZ 7V R
143.7 51 ~  143.7 76 3. 50 0. 00 1.20
Al
“HERZKESKENT 3.25 0. 00 0. 00 0.75 19.0 0.0 0.0 19.0]  38,649.0 T AT 7V b
143.7 76 ~  143.8 0 3.25 1.80 0.75
A e
=ERZKECRANT 3.25 0. 00 0. 00 1. 00 206. 0 0.0 0.0 206. 0 38, 855. 0 TAZ 7V R
143.8 0~  144.0 0 3.25 2. 40 0.75
Al
“HERZKESKENT 3.25 0. 00 0. 00 0.75 74.0 0.0 128.0 202.0[  39,057.0 T AT 7V b
144. 0 0~  144.2 0 3.25 2. 00 0.75
A e
=ERZKECRANT 3.25 0. 00 0. 00 0.75 196.0 0.0 0.0 196. 0 39, 253. 0 TAZ 7V R
144. 2 0~  144.4 0 3.25 2. 00 0.75
Al
“HERZKESKENT 3.25 0. 00 0. 00 0.75 200. 0 0.0 0.0 200.0[  39,453.0 T AT 7V b
144. 4 0~  144.6 0 3.25 2. 00 0.75
A
=ERZKECRENT 3.25 0. 00 0. 00 3.00 203. 0 0.0 0.0 203.0 39, 656. 0 TAZ 7V R
144. 6 0~  144.8 0 3.25 1. 80 0.75
Al
“HERZKESKENT 3.25 0. 00 0. 00 0.75 197.0 0.0 0.0 197.0(  39,853.0 T AT 7V b
144. 8 0~  145.0 0 3.25 1.80 0.75
A
=HERZKECRANT 3.25 0. 00 0. 00 0.75 62.0 0.0 0.0 62.0 39,915. 0 TAZ 7V R
145.0 0~  145.0 62 3.25 4. 20 5. 85
Al
“HERZKESRENT 3.25 0. 00 0. 00 0.75 88.0 0.0 0.0 88.0(  40,003.0 T AT 7V b
145. 0 62 ~  145.1 21 3.25 2. 00 0.75
A
=ERZKECRENT 3. 50 0. 00 0. 00 0.75 53.0 0.0 0.0 53.0( 40, 056.0 TAZ 7V R
145. 1 21 ~  145.2 0 3. 50 2. 00 0.75
Al
“HERZKERENT 3.50 0. 00 0. 00 1. 00 50. 0 0.0 0.0 50.0( 40, 106.0 T AT 7V b
145. 2 0~  145.2 50 3.50 2.00 0.75
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“HERZKESKENT 3.50 0. 00 0. 00 0.75 31.0 0.0 0. 31. 40, 137. 0 TAZ TV N
145. 2 50 ~  145. 0 3.50 1.80 0.75
A e
=ERZKECRANT 3.25 0. 00 0. 00 0.75 119.0 0.0 0. 119. 40, 256. 0 TAZ 7V R
145.3 0~  145. 0 3.25 2. 00 0.75
Al
“HERZKESKENT 3.25 0. 00 0. 00 0.75 197.0 0.0 0. 197. 40, 453. 0 T AT 7V b
145. 4 0~  145. 0 3.25 2.20 0.75
A e
=ERZKECRANT 3.25 0. 00 0. 00 0.75 217.0 0.0 0. 217. 40, 670. 0 TAZ 7V R
145. 6 0~  145. 0 3.25 0. 00 0.75
Al
“HERZKESKENT 3.25 0. 00 0. 00 0.75 182.0 0.0 0. 182. 40, 852. 0 T AT 7V b
145. 8 0~  146. 0 3.25 2.05 0.75
A e
=ERZKECRANT 3.25 0. 00 0. 00 0.80 153.0 0.0 0. 153. 41, 005. 0 TAZ 7V R
146.0 0~  146. 63 3.25 2.15 0.75
Al
“HERZKESKENT 3.25 0. 00 0. 00 0. 00 11.0 0.0 0. 11. 41,016.0 T AT 7V b
146. 1 63 ~  146. 0 3.25 3. 00 0.75
A
SEIRS TR AT 3.25 0. 00 0. 00 0.75 46.0 0.0 0. 46. 41,062, 0|7 27 7V Rl
146.2 0~  146. 46 3.25 1. 80 0. 50
Al
“HERZKESKENT 3.50 0. 00 0. 00 1. 00 41.0 0.0 0. 41. 41,103.0 T AT 7V b
146. 2 46 ~  146. 87 3.50 2.20 0. 50
A
SEIRS TR AT 6.25 0. 00 0. 00 0.75 79.0 0.0 0. 79. 41,182, 0|7 27 7V Rl
146.2 87 ~  146. 29 3. 50 3. 00 0. 50
Al
“HERZKESRENT 3.50 0. 00 0. 00 0.75 41.0 0.0 0. 41. 41,223.0 T AT 7V b
146. 3 29 ~  146. 70 6.25 2.20 0. 50
A
S EIRS TR AT 3.50 0. 00 0. 00 0.75 37.0 0.0 0. 37. 41,260, 0|7 27 7V Rl
146.3 70 ~  146. 8 6.25 2. 80 0. 50
Al
“HERZKERENT 3.25 0. 00 0. 00 0.75 62.0 0.0 0. 62. 41,322.0 T AT 7V b
146. 4 8 ~  146. 70 3.50 2.00 0. 50
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“HERZKESKENT 3.25 0. 00 0. 00 0.75 129.0 0.0 0. 129. 41,451.0 TAZ TV N
146. 4 70 ~  146. 3.25 2.20 0.75
A e
=ERZKECRANT 3.25 0. 00 0. 00 0.75 196.0 0.0 0. 196. 41,647.0 TAZ 7V R
146. 6 0~  146. 3.25 2. 00 0.75
Al
“HERZKESKENT 3.25 0. 00 0. 00 0.75 212.0 0.0 0. 212. 41, 859.0 T AT 7V b
146. 8 0~  147. 3.50 2. 00 0.75
A e
=ERZKECRANT 3.25 0. 00 0. 00 0.75 193.0 0.0 0. 193. 42,052.0 TAZ 7V R
147.0 0~  147. 3.25 3. 40 0.75
Al
“HERZKESKENT 3.25 0. 00 0. 00 0.75 190. 0 0.0 0. 190. 42,242.0 T AT 7V b
147.2 0~  147. 3.25 2.20 0.75
A e
=ERZKECRANT 3.25 0. 00 0. 00 0.75 204. 0 0.0 0. 204. 42,446.0 TAZ 7V R
147. 4 0~  147. 3.25 1. 80 0.75
Al
“HERZKESKENT 3.25 0. 00 0. 00 0. 50 213.0 0.0 0. 213. 42,659.0 T AT 7V b
147. 6 0~  147. 3.25 3. 00 0.75
A
=ERZKECRENT 3.25 0. 00 0. 00 0.80 202. 0 0.0 0. 202. 42,861.0 TAZ 7V R
147.8 0~  148. 3.25 2. 00 0.75
Al
“HERZKESKENT 3.25 0. 00 0. 00 0.75 177.0 0.0 29. 206. 43,067.0 T AT 7V b
148.0 0~  148. 3.25 2. 80 0.75
A
SHERZKAR AT 3.25 0. 00 0. 00 0.50|  172.0 0.0 23. 195. 13,262, 0 7 7 7 /Y MR
148.2 0~  148. 3.25 2. 00 0. 50
Al
“HERZKESRENT 3.25 0. 00 0. 00 1. 00 198.0 0.0 0. 198. 43, 460. 0 T AT 7V b
148. 4 0~  148. 3.25 2.50 0.75
A
=ERZKECRENT 3.25 0. 00 0. 00 0.80 204. 0 0.0 15. 219. 43,679.0 TAZ 7V R
148. 6 0~  148. 3.25 2. 00 0.75
Al
“HERZKERENT 3.25 0. 00 0. 00 0.75 181.0 0.0 0. 181. 43, 860. 0 T AT 7V b
148. 8 0~  149. 3.25 1. 60 0.75
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“HERZKESKENT 3.25 0. 00 0. 00 0.75 201.0 0.0 0.0 201.0(  44,061.0 TAZ TV N
149. 0 0~  149.2 0 3.25 2.00 0.75
A e
=ERZKECRANT 3.25 0. 00 0. 00 0.75 98.0 0.0 0.0 98.0( 44, 159.0 TAZ 7V R
149. 2 0~  149.3 0 3.25 0. 00 0.75
Al
“HERZKESKENT 3.50 0. 00 0. 00 0.75 96. 0 0.0 0.0 96.0( 44,255.0 T AT 7V b
149. 3 0~  149.4 0 3.50 0. 00 0.75
A e
=ERZKECRANT 3.25 0. 00 0. 00 1. 00 199.0 0.0 0.0 199.0| 44,454.0 TAZ 7V R
149. 4 0~  149.6 0 3.25 0. 00 0. 90
Al
“HERZKESKENT 3.25 0. 00 0. 00 0.90 207.0 0.0 0.0 207.0(  44,661.0 T AT 7V b
149. 6 0~  149.8 0 3.25 0. 00 0. 80
A e
=ERZKECRANT 3.25 0. 00 0. 00 0.75 167.0 0.0 3.0 170.0|  44,831.0 TAZ 7V R
149. 8 0~  149.9 70 3.25 0. 00 0.75
Al
“HERZKESKENT 3.25 0. 00 0. 00 0.75 33.0 0.0 0.0 33.0| 44,864.0 T AT 7V b
149.9 70 ~  150.0 0 3.25 0. 00 0. 50
A
=ERZKECRENT 3. 60 0. 00 0. 00 0.75 81.0 0.0 8.0 89.0( 44,953.0 TAZ 7V R
150.0 0~  150.0 89 3. 60 0. 00 0.75
Al
“HERZKESKENT 3.50 0. 00 0. 00 0.75 23.0 0.0 0.0 23.0|  44,976.0 T AT 7V b
150. 0 89 ~  150.1 16 3.50 0. 00 0.75
A
=HERZKECRANT 3.25 0. 00 0. 00 0.75 85.0 0.0 7.0 92.0( 45, 068.0 TAZ 7V R
150. 1 16 ~  150.2 0 3.25 0. 00 0.75
Al
“HERZKESRENT 3.25 0. 00 0. 00 0.75 194.0 0.0 0.0 194.0(  45,262.0 T AT 7V b
150. 2 0~  150.4 0 3.25 0. 00 1.00
A
=ERZKECRENT 3.25 0. 00 0. 00 0.75 193.0 0.0 7.0 200.0| 45, 462.0 TAZ 7V R
150. 4 0~  150.6 0 3.25 0. 00 1. 00
Al
“HERZKERENT 3.25 0. 00 0. 00 0.75 193.0 0.0 6.0 199.0( 45,661.0 T AT 7V b
150. 6 0~  150.8 0 3.25 0. 00 0.75
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. A ANEESS
ENLE StV 3.25 0.00 0. 00 0.75 24.0 0.0 0.0 24.0|  45,685.0 zyzg'_ tgg
150.8 0~ 150.8 24 3.25 0.00 0.75
= 2 L b,
SHERZKAR AT 3.25 0. 00 0. 00 0.75 60. 0 0.0 0.0 60.0|  45,745.0 ;Z;’L ng
150.8 24~ 150.8 84 3.25 2. 60 1. 20
_ I3 L~ EfSE
ENLE StV 3.25 0.00 0. 00 2.00  119.0 0.0 0.0 119.0|  45,864.0 zyzg'_ F@E%
150.8 84~ 1510 0 6.25 2.00 0.50
= 2 L b,
SHERZKAR AT 3.25 0. 00 0. 00 1.00|  197.0 0.0 0.0 197.0 46, 061.0 Z‘/Z;L tﬁgg
151. 0 0~ 1512 0 6. 25 2. 00 0.55
_ I3 L~ EfSE
ENLE S tvN ) 3.25 0.00 0. 00 L.oo[  202.0 0.0 0.0 202.0|  46,263.0 zyzg'_ F@E%
151. 2 0~ 151.4 0 6.25 2.70 0. 55
= 2 L b,
SHERZKAR AT 3.25 0. 00 0. 00 1.00|  198.0 0.0 0.0 198.0  46,461.0 Z‘/Z;L tﬁgg
151.4 0~ 1516 0 6. 25 2.20 0.55
_ A L b A,
ENLE S tvN ) 3.25 0.00 0. 00 1.00 73.0 0.0 0.0 73.0[  46,534.0 zyzg'_ F@E%
151.6 0~ 151.6 73 6.25 2.20 0. 55
= 2 L b,
SHERZKAR AT 3.25 0. 00 0. 00 0.75 42.0 0.0 0.0 42.0  46,576.0 ;Z;’L tﬁg
151.6 73~ 151.7 14 6. 25 2.20 0.50
_ I3 L~ EfSE
ENLE S PN 3.25 0.00 0. 00 1.50 89.0 0.0 0.0 89.0|  46,665.0 zyzg'_ F@E%
151.7 14~ 151.8 0 3.25 0.00 2.80
= 2 L b,
SHERZKAR AT 3.25 0. 00 0. 00 0.75|  200.0 0.0 0.0 200.0| 46, 865. 0 Z‘/Z;L tﬁgg
151.8 0~ 152.0 0 3.25 1. 80 0.75
_ I3 L~ EfSE
ENLE S PN 3.25 0.00 0. 00 0.75|  205.0 0.0 0.0 205.0|  47,070.0 zyzg'_ F@E%
152. 0 0~ 152.2 0 3.25 2.00 0.75
= T AT 7 v i,
SHERZKER AT 3.25 0. 00 0. 00 0.75|  166.0 0.0 22.0 188.0  47,258.0|5 0 5 1) 1 ggis
152. 2 0~ 152.4 0 3.25 2. 00 0.75
_ I3 L~ EfSE
ENLE S VN 3.25 0.00 0. 00 0.75|  202.0 0.0 0.0 202.0|  47,460.0 Z‘/Z§L F@E%
152. 4 0~ 152.6 0 3.25 2.00 0.75
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. A ANEESS
ENLE StV 3.25 0.00 0. 00 0.75|  185.0 0.0 0. 185. 47,645. 0 zyzg'_ tgg
152. 6 0~ 152 0 3.25 2. 00 0.75
= 2 L b,
SHERZKAR AT 3.25 0. 00 0. 00 0.75|  218.0 0.0 0. 218. 47,863.0 ;Z;’L ng
152.8 0~ 153 0 3.25 2. 00 0.75
_ I3 L~ EfSE
ENLE StV 3.25 0.00 0. 00 0.75 1010 0.0 0. 101. 47,964. 0 zyzg'_ F@E%
153.0 0~ 153 1 3.25 2.20 0.75
= 2 L b,
SHERZKAR AT 3.25 0. 00 0. 00 0.75 20.0 0.0 0. 20. 47,984.0 ;Z;’L ng
153. 1 1~ 153 21 3.25 0. 00 0.75
_ I3 L~ EfSE
ENLE S tvN ) 3.25 0.00 0. 00 0.75 17.0 0.0 0. 17. 48,001. 0 zyzg'_ F@E%
153.1 21 ~ 153 38 3.25 0.00 0.75
= 2 L b,
SHERZKAR AT 6. 00 0. 00 0. 00 0.75 43.0 0.0 0. 43. 48,044.0 ;Z;’L ng
153.1 38 ~ 153, 81 3.25 2. 00 0.75
_ I3 L~ EfSE
ENLE S tvN ) 3.25 0.00 0. 00 0. 00 59.0 0.0 0. 59. 48,103.0 zyzg'_ F@E%
153.1 81~ 153 16 6. 00 2.50 0.90
= 2 L b,
SHERZKAR AT 3.25 2.00 0. 00 1. 00 17.0 0.0 0. 17. 48,120.0 ;Z;’L tﬁg
153.2 16 ~ 153, 33 6. 00 2.50 0.90
_ I3 L~ EfSE
ENLE S PN 3.25 2.00 0. 00 1.00 39.0 0.0 0. 39. 48,159. 0 zyzg'_ F@E%
153.2 33~ 153 0 3.50 2.50 0.90
A
EXUE S0 PNl 3.25 2.20 0. 00 0.75|  108.0 0.0 0. 108. 48, 267. 0| 7 7 7V MR
153. 3 0~ 153 0 3.25 2. 60 0.50
Al
ENLE S PN 3.25 2.60 0. 00 0.90[  148.0 0.0 44, 192. 18,459, o| 7 7 7V M
153. 4 0~ 153 0 3.25 2. 00 0.75
= - T AT 7V L
— B 42 /= N
BN 2 SN 3.25 2.00 0. 00 0.75|  198.0 0.0 0. 198. 48, 657. 0\ "y 1o v
153. 6 0~ 153 0 3.25 1.70 0.75
3
ENOE S v PN 3.25 2. 80 0. 00 2.50 199.0 0.0 0. 199. 48, 856. 0 »Z?;?ﬂi%tﬁ
2=, DRACTERHZR
153.8 0~ 154, 0 3.25 2.45 0.75
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—HEBRZKECKEMT 3.25 3.00 0. 00 0.75 213.0 0.0 0. 213. 49, 069. 0 TAZ TV R
154.0 0~ 154 0 3.25 2.10 0.75

ZHEREZKECR AR 3.25 2. 60 0.00 0.75 97.0 0.0 0. 97. 49, 166. 0 T AT 7 b
154. 2 0~ 154 97 3.25 2.20 0.75

—HEBRZKAECKEMT 3.25 0. 00 0. 00 1.60 70.0 0.0 0. 70. 49, 236. 0 TAZ TV R
154. 2 97 ~  154. 66 3.25 0.00 1. 60

ZHEREZKECR AR 5. 00 0. 00 0.00 0.75 49.0 0.0 0. 49. 49, 285. 0 T AT 7 b
154. 3 66 ~  154. 18 5. 00 0.00 0. 00

—HEBRLKAECKEMT 3.00 0. 00 0. 00 0. 50 14.0 0.0 47. 61. 49, 346. 0 TAZ TV M
154. 4 18 ~  154. 79 3.00 0.00 0.50

S HRRBEESAR AT 3.00 0.00 0.00 0.50 1.0 0.0 93. 94, 49,440, 0| X7 TV DR
154. 4 79 ~ 154 74 3.00 0.00 0.50

S E RS AR AT 3.00 0. 00 0. 00 0. 50 13.0 0.0 0. 13. 49, 453. 0 TAZ TV M
154.5 74 ~ 154 0 3.00 0.00 0.50

S HRRBESAR AT 6.25 0.00 0.00 0. 00 30.0 0.0 0. 30. 49,483 0|7 7TV DR
154. 6 0~ 154 30 3.25 0.00 0.75

S E RS AR AT 3.25 0. 00 0. 00 0.75 37.0 0.0 0. 37. 49, 520. 0 TAZ TV M
154. 6 30 ~ 154 67 6.25 0.00 1. 00

= EILEA R ATAT 3. 25 1.80 0. 00 0.75 14.0 0.0 0. 14.0| 49,534, 0|7 *7 7V M
154. 6 67 ~  154. 81 6.25 0.00 0.75

S E RS AR AT 3.25 1.80 0. 00 0.75 45.0 0.0 0. 45. 49, 579. 0 TAZ 7V M
154. 6 81 ~  154. 13 3.25 0.00 0.75

S HRRBESAR AT 3.80 2.00 0.00 1. 00 89.0 0.0 0. 89. 49,6680 7 TV DR
154. 7 13 ~ 154, 0 3.80 0.00 1. 00

S E RS AT 3.50 2. 00 0. 00 0.75 203.0 0.0 0. 203. 49, 871.0 TAZ TV R
154.8 0~  155. 0 3.50 0.00 0.75
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S E RS AT 3.50 2. 00 0. 00 0.75| -143.0 0.0 345. 202. 50, 073. 0 TAZ TV R
155.0 0~  155. 3.50 0.00 0.75

ZHRRBESAR AT 3.25 1. 80 0.00 0.75 199.0 0.0 0. 199. 50,272.0|7 7 TV DR
155.2 0~  155. 3.25 0. 00 0.75

S E RS AT 3.25 2. 00 0. 00 0. 90 184.0 0.0 5. 189. 50, 461. 0 TAZ TV R
155. 4 0~  155. 3.25 0.00 0.75

S HRRBEESAR AT 3.25 2.00 0.00 0.75 175.0 0.0 33. 208. 50,669.0|7 7 7V DR
155. 6 0~  155. 3.25 1.70 1. 60

S E RS AT 3.25 2. 00 0. 00 0.75 204.0 0.0 6. 210. 50, 879. 0 TAZ TV M
155.8 0~ 156. 3.25 0.00 0.75

S HRRBEESAR AT 3.25 2.40 0.00 0.75 199.0 0.0 4. 203. 51,082.07 7 7V DR
156. 0 0~  156. 3.25 0. 00 0.75

S E RS AR AT 3.25 0. 00 0. 00 0. 90 194. 0 0.0 0. 194. 51,276.0 TAZ TV M
156. 2 0~ 156. 3.25 2.00 0.75

S HRRBESAR AT 3.25 0.00 0.00 0.75 211.0 0.0 0. 211. 51,487.0|7 7TV DR
156. 4 0~  156. 3.25 2. 00 0.75

S E RS AR AT 3.25 2. 00 0. 00 0.75 201.0 0.0 0. 201. 51, 688.0 TAZ TV M
156. 6 0~ 156. 3.25 2.00 0.75

S HR RS ACHT 3.25 0.00 0.00 1. 00 199. 0 0.0 0. 199. 51,887.0|7 7 7V DR
156. 8 0~  157. 3.25 2. 40 0.75

S E RS AR AT 3.25 2. 00 0. 00 0.75 173.0 0.0 28. 201. 52, 088. 0 TAZ 7V M
157.0 0~ 157. 3.25 0.00 1. 30

S HRRBESAR AT 3.25 1. 80 0.00 2.70 202. 0 0.0 0. 202. 52,290.0|7 7 TV DR
157.2 0~  157. 3.25 0. 00 0.75

S E RS AT 3.25 2.70 0. 00 0.75 205.0 0.0 0. 205. 52, 495. 0 TAZ TV R
157. 4 0~  157. 3.25 0.00 1. 20
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S E RS AT 3.25 2. 00 0. 00 0.75 208.0 0.0 0. 208. 52, 703.0 TAZ TV R
157.6 0~ 157. 0 3.25 2.20 0.75 ‘

ZHRRBESAR AT 3.25 1. 80 0.00 0.75 151.0 0.0 43. 194. 52, 897. 0 ;@;ﬁéﬁ%ﬁﬁ
157.8 0~  158. 0 3.25 1.80 0.75

S E RS AT 3.25 2.30 0. 00 0.75 215.0 0.0 0. 215. 53,112.0 TAZ TV R
158.0 0~  158. 0 3.25 0.00 1. 00 ‘

S HRRBEESAR AT 3.25 2.00 0.00 0.75 159. 0 0.0 31. 190. 53, 302. 0 ;@;ﬁéﬁ%ﬁﬁ
158.2 0~  158. 0 3.25 0. 00 0.75

S E RS AT 3.25 2.30 0. 00 0.75 202.0 0.0 0. 202. 53, 504. 0 TAZ TV M
158. 4 0~  158. 0 3.25 2.00 0.75

S HRRBEESAR AT 3.25 0.00 0.00 0.75 201.0 0.0 0. 201. 53,705.0|7 7 7V DR
158. 6 0~  158. 0 3.25 2. 20 0.75

S E RS AR AT 3.25 3.60 0. 00 0.75 204.0 0.0 0. 204. 53,909. 0 TAZ TV M
158.8 0~ 159. 0 3.25 2.20 0.75

S HRRBESAR AT 3.25 0.00 0.00 0.75 200. 0 0.0 0. 200. 54,109.0|7 7 7V DR
159. 0 0~  159. 0 3.25 2. 20 0.75

S E RS AR AT 3.25 0. 00 0. 00 0.75 30.0 0.0 0. 30. 54,139.0 TAZ TV M
159. 2 0~ 159. 30 3.25 2.00 0.75

S HR RS ACHT 3.25 0.00 0.00 0.75 50.0 0.0 0. 50. 54,189.0|7 7TV DR
159. 2 30 ~  159. 80 3.25 4.50 0.50

S E RS AR AT 3.25 0. 00 0. 00 0.55 20.0 0.0 0. 20. 54, 209. 0 TAZ 7V M
159.2 80 ~  159. 11 6.25 2.40 0.75

S HRRBESAR AT 3.25 0.00 0.00 0.55 26.0 0.0 7. 33. 54,242,077 TV DR
159.3 11 ~  159. 44 6.25 2. 40 0.75

S E RS AT 3.25 0. 00 0. 00 0.95 27.0 0.0 0. 27. 54, 269. 0 TAZ TV R
159.3 44 ~  159. 71 3.25 2.00 0.75
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S E RS AT 3.25 0. 00 0. 00 0.75 35.0 0.0 0. 35. 54, 304. 0 TAZ TV R
159.3 71 ~  159. 0 3.25 0.00 0.75

ZHRRBESAR AT 3.25 0.00 0.00 2.00 209. 0 0.0 0. 209. 54,513.07 7 7V DR
159. 4 0~  159. 0 3.25 0. 00 0.75

S E RS AT 3.25 0. 00 0. 00 0.75 189. 0 0.0 0. 189. 54, 702. 0 TAZ TV R
159. 6 0~ 159. 0 3.25 0.00 0.75

S HRRBEESAR AT 3.25 2.40 0.00 0.90 218.0 0.0 0. 218. 54,920.0|7 7 TV DR
159. 8 0~  160. 0 3.25 0. 00 1.10

S E RS AT 3.25 0. 00 0. 00 0.75 198.0 0.0 0. 198. 55,118.0 TAZ TV M
160.0 0~ 160. 0 3.25 0.00 0.75

S HRRBEESAR AT 3.25 0.00 0.00 1. 50 305. 0 0.0 0. 305. 55,423.0|7 7 7V DR
160. 2 0~  160. 0 3.25 0. 00 0.75

S E RS AR AT 3.25 0. 00 0. 00 1.55 190. 0 0.0 10. 200. 55, 623. 0 TAZ TV M
160.5 0~ 160. 0 3.25 0.00 1.55

S HRRBESAR AT 3.25 0.00 0.00 0.75 140. 0 0.0 0. 140. 55,763.0|7 7 7V DR
160.7 0~ 160. 42 3.25 0. 00 0.75

S E RS AR AT 3.25 0. 00 0. 00 1.00 56. 0 0.0 0. 56. 55,819.0 TAZ TV M
160.8 42 ~  160. 0 3.25 2.00 1. 80

S HR RS ACHT 3.50 2.85 0.00 0.75 206. 0 0.0 0. 206. 56,025.0]7 7 7V DR
160.9 0~  161. 100 3. 50 1.80 0.75

S E RS AR AT 3.50 2. 00 0. 00 0.75 201.0 0.0 0. 201. 56, 226. 0 TAZ 7V M
161.0 100 ~  161. 100 3.50 0.00 0.75

S HRRBESAR AT 3.50 2.50 0.00 2.70 70.0 0.0 1. 71. 56,297.0|7 7 7V DR
161.2 100 ~  161. 69 3. 50 0. 00 0.75

S E RS AT 3.70 2. 00 0. 00 0.75 117.0 0.0 15. 132. 56, 429. 0 TAZ TV R
161.3 69 ~  161. 100 3.70 0.00 0.75
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S E RS AT 3.70 2. 00 0. 00 0.75 52.0 0.0 0.0 52.0|  56,481.0 TAZ TV R
161.4 100 ~  161.5 49 3.70 0.00 0.75

ZHRRBESAR AT 3.25 2.00 0.00 0.75 139.0 0.0 11.0 150.0]  56,631.0|7 77" DR
161.5 49~ 161.6__ 100 3.25 0. 00 0.75

S E RS AT 3.25 2. 40 0. 00 0.75 174.0 0.0 31.0 205.0 56, 836.0 TAZ TV R
161.6 100 ~  161.9 0 3.25 0.00 4.00

S HRRBEESAR AT 3.25 2.00 0.00 0.75 124.0 0.0 78.0 202.0| 57,0807 7TV DR
161.9 0~  162.1 0 3.25 0. 00 0.75

S E RS AT 3.50 2.20 0. 00 0.75 194. 0 0.0 0.0 194.0[ 57,232.0 TAZ TV M
162. 1 0~ 162.2 100 3.25 0.00 0.50

S HRRBEESAR AT 3.25 3.17 0.00 0.75 206. 0 0.0 0.0 206.0| 57,438.07 77V DR
162.2 100 ~  162.5 0 3.25 0. 00 1.20

S E RS AR AT 3.50 1.95 0. 00 1.00 201.0 0.0 0.0 201.0|  57,639.0 TAZ TV M
162. 5 0~  162.7 0 3.25 2.00 0.75

S HRRBESAR AT 3.25 0.00 0.00 0.75 200. 0 0.0 0.0 200.0| 57,839.07 77V DR
162.7 0~  162.8 100 3.25 0. 00 1. 00

S E RS AR AT 3.25 2. 00 0. 00 0.75 73.0 0.0 0.0 73.0] 57,912.0 TAZ TV M
162.8 100 ~  162.9 67 3.25 0.00 0.75

S HR RS ACHT 3.50 2.00 0.00 0.75 27.0 0.0 0.0 o7.0|  57,939.0|7 7T DR
162.9 67~  163.0 0 3. 50 0. 00 0.75

S E RS AR AT 3. 60 2. 00 0. 00 0.75 28.0 0.0 0.0 28.0|  57,967.0 TAZ 7V M
163.0 0~  163.0 28 3. 60 0.00 0.75

S HRRBESAR AT 3.25 2.00 0.00 0.75 72.0 0.0 0.0 72.0| 58,039.07 7TV DR
163.0 28 ~  163.0 100 3.25 0. 00 0.75

S E RS AT 3.25 2. 00 0. 00 0.75 196. 0 0.0 0.0 196.0[ 58,235.0 TAZ TV R
163.0 100 ~  163.3 0 3.25 0.00 0.75
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S E RS AT 3.25 2. 00 0. 00 0.75 123.0 0.0 0.0 123.0[  58,358.0 TAZ TV R
163.3 0~  163.4 6 3.25 0.00 0.75

ZHRRBESAR AT 3.25 2.00 0.00 0.75 40.0 0.0 0.0 40.0| 5839807 7T DR
163.4 6~  163.4 46 3.25 0. 00 0.75

S E RS AT 3.50 0. 00 0. 00 0.75 38.0 0.0 6.0 44.0|  58,442.0 TAZ TV R
163.4 46 ~  163.5 0 3.50 0.00 0.75

S HRRBEESAR AT 3.60 0.00 0.00 0.75 76.0 0.0 0.0 76.0| 58,518.017 77V DR
163.5 0~  163.5 76 3. 60 0. 00 0.75

S E RS AT 3.25 0. 00 0. 00 0.75 125.0 0.0 0.0 125.0[  58,643.0 TAZ TV M
163.5 76 ~  163.6__ 100 3.25 0.00 0.75

S HRRBEESAR AT 3.25 0.00 0.00 0.75 27.0 0.0 0.0 o7.0| 58,670,017 7TV DR
163.6 100 ~  163.7 21 3.25 0. 00 0.75

S E RS AR AT 3.50 0. 00 0. 00 0.75 167.0 0.0 0.0 167.0[  58,837.0 TAZ TV M
163. 7 21 ~  163.9 0 3.50 0.00 0.75

S HRRBESAR AT 3.50 0.00 0.00 1. 30 31.0 0.0 0.0 30| 58,868.07 77V DR
163.9 0~  163.9 31 3. 50 0. 00 1. 00

S E RS AR AT 3.25 0. 00 0. 00 2.80 171.0 0.0 0.0 171.0[  59,039.0 TAZ TV M
163.9 31~ 164.0 100 3.25 0.00 0.75

S HR RS ACHT 3.25 0.00 0.00 0.75 73.0 0.0 0.0 73.0| 59,112,017 7TV DR
164.0 100 ~  164.1 60 3.25 0. 00 0.75

S E RS AR AT 3.50 0. 00 0. 00 0.75 121.0 0.0 0.0 121.0[  59,233.0 TAZ 7V M
164. 1 60 ~  164.3 0 3.50 0.00 0.75

S HRRBESAR AT 3.50 2.20 0.00 0.50 97.0 0.0 0.0 97.0| 59,330.0|7 7TV DR
164.3 0~  164.3 97 3. 50 0. 00 1. 00

S E RS AT 3.50 1.80 0. 00 0. 50 87.0 0.0 0.0 87.0| 59,417.0 TAZ TV R
164.3 97 ~  164.4 77 3.50 0.00 0.75
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A
=R SRR ARCHT 3.25 2.20 0. 00 0.75 200. 0 0.0 0. 200. 59, 617.0 Zf z T E;ﬁ
4 HEK b A
164. 4 77 ~  164. 76 3.25 0. 00 0.75
— T AT 7 )v Nl
p— H FEA 7
= AT AE T 3.25 0. 00 0. 00 0.75 107.0 0.0 12. 119. 59, 736. 0 5 HEAPEARAE
164. 6 76 ~  164. 0 3.25 0. 00 0.75
Al
= E SRR ICHAT 3.50 0. 00 0.00 0.75 92.0 0.0 8. 100. 59, 836. 0 T AT 7V b
164.8 0~ 164 100 3.50 0. 00 0.75
A e
=EIRESEIRAT 3.50 0. 00 0. 00 0.75 102.0 0.0 0. 102. 59, 938. 0 TAZ 7V R
164.8 100 ~  164. 96 3. 50 0. 00 0.75
Al
= E SRR ICHAT 3.50 0. 00 0.00 0.75 74.0 0.0 3. 7. 60, 015. 0 T AT 7V b
164.9 96 ~  165. 57 3.50 0. 00 1. 00
— T AT 7 )v Nl
p— H FEA 7
= AT AE T 3.25 0. 00 0. 00 0.75 1.0 0.0 23. 24. 60, 039. 0 5 HEAPEARAE
165.0 57 ~  165. 0 3.25 0. 00 1. 00
A
ZE AR ACHT 3.25 0. 00 0. 00 0. 50 107.0 0.0 68. 175. 60, 214. 0 Zf 77 E;ﬁ
4 HEK b A
165.1 0~  165. 0 3.25 0. 00 0.75
— T AT 7V Nl
p— H FEA 7
=EIRESEIRAT 3.00 2.00 0. 00 0.75 227.0 0.0 0. 221. 60, 441. 0 S AR
165.3 0~  165. 0 3. 00 0. 00 0.75
Al
= E SRR ICHAT 3.00 0. 00 0.00 2.00 189.0 0.0 0. 189. 60, 630. 0 T AT 7V b
165.5 0~  165. 0 3.00 0. 00 0.90
A
=EIRESELIRAT 3.00 0. 00 0. 00 0.75 209. 0 0.0 0. 209. 60, 839. 0 TAZ 7V R
165.7 0~  165. 0 3. 00 0. 00 0.75
Al
= E SRR ICHAT 3.00 0. 00 0.00 0.75 205. 0 0.0 0. 205. 61, 044. 0 T AT 7V b
165.9 0~  166. 0 3.00 0. 00 0.75
A
SR SRR 3.00 0. 00 0. 00 1.00 97.0 0.0 0. 97. 61,141, 0| 7 7V Pl
166. 1 0~  166. 0 3. 00 1.50 0.75
Al
= E SRR ICHIAT 3.00 0. 00 0.00 1. 00 40.0 0.0 0. 40. 61,181.0 T AT 7V b
166. 2 0~  166. 40 3.00 1. 50 0. 50
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S E RS AT 3.25 0. 00 0. 00 1.00 60. 0 0.0 0. 60. 61,241.0 TAZ TV R
166.2 40 ~  166. 100 3.25 0.50 0.75

ZHRRBESAR AT 3.25 0.00 0.00 1. 30 201.0 0.0 0. 201. 61,4420 7TV DR
166.2 100 ~  166. 100 3.25 1.50 0.75

S E RS AT 3.25 0. 00 0. 00 0.75 65.0 0.0 36. 101. 61, 543.0 ;@;ﬁiﬁ%ﬁﬁ
166.4 100 ~  166. 0 3.25 1. 80 0.75 ‘

S HRRBEESAR AT 3.25 0.00 0.00 0.75 285. 0 0.0 17. 302. 61, 845. 0 ;@;ﬁéﬁ%ﬁﬁ
166. 6 0~  166. 0 3.25 0. 00 0.75

S E RS AT 3.25 0. 00 0. 00 0.75 188.0 0.0 0. 188. 62, 033. 0 TAZ TV M
166.9 0~ 167. 100 3.25 0.00 0.75

S HRRBEESAR AT 3.25 2.20 0.00 0.75 200. 0 0.0 4. 204. 62,237.0|7 7TV DR
167.0 100 ~  167. 96 3.25 0. 00 1. 00

S E RS AR AT 3.25 2. 00 0. 00 0.75 195.0 0.0 0. 195. 62, 432. 0 TAZ TV M
167.2 96 ~  167. 0 3.25 0.00 1. 00

S HRRBESAR AT 3.25 2.10 0.00 0.75 47.0 0.0 37. 84. 62,516.0|7 77V DR
167.5 0~  167. 84 3.25 0. 00 0.75

S E RS AR AT 3.25 0. 00 0. 00 0. 50 79.0 0.0 0. 79. 62, 595. 0 TAZ TV M
167.5 84 ~  167. 63 3.25 0.00 0.75

S HR RS ACHT 3.50 2.00 0.00 0.75 37.0 0.0 0. 37. 62,632.07 7 7V DR
167.6 63 ~  167. 100 3. 50 0. 00 0.75

S E RS AR AT 3. 60 2.20 0. 00 0.75 52.0 0.0 0. 52. 62, 684. 0 TAZ 7V M
167.6 100 ~  167. 33 3. 60 0.00 0.75

S HRRBESAR AT 3.50 2.00 0.00 0.75 49.0 0.0 0. 49. 62,733.07 7 TV DR
167.7 33 ~  167. 0 3. 50 0. 00 0.75

S E RS AT 3.25 2. 00 0. 00 0.75 99.0 0.0 1. 100. 62, 833. 0 TAZ TV R
167.8 0~  167. 100 3.25 0.00 0.75
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S E RS AT 3.25 2. 60 0. 00 0.75 194. 0 0.0 17. 211. 63, 044. 0 TAZ TV R
167.8 100 ~  168. 0 3.25 0.00 0.75

ZHRRBESAR AT 3.25 2.30 0.00 0.75 195.0 0.0 0. 195. 63,239.0|7 77V DR
168. 1 0~  168. 100 3.25 0. 00 0.75

S E RS AT 3.25 2. 00 0. 00 0.75 207.0 0.0 0. 207. 63, 446. 0 TAZ TV R
168.2 100 ~  168. 0 3.25 0.00 0.75

S HRRBEESAR AT 3.25 0.00 0.00 1. 10 199.0 0.0 0. 199. 63,645.0|7 7 7V DR
168.5 0~  168. 100 3.25 2. 00 0.75

S E RS AT 3.25 2.20 0. 00 0.95 124.0 0.0 0. 124. 63, 769. 0 TAZ TV M
168.6 100 ~  168. 22 3.25 2.30 0.75

S HRRBEESAR AT 3.25 2.40 0.00 1. 00 70.0 0.0 0. 70. 63,839.0|7 77V DR
168. 8 22 ~  168. 0 3.25 0. 00 1. 00

S E RS AR AT 3. 60 2.20 0. 00 0.75 206. 0 0.0 0. 206. 64, 045. 0 TAZ TV M
168.9 0~ 169. 100 3. 60 0.00 0.75

= EILEA R ATAT 3.50 2. 00 0. 00 0.75 46.0 0.0 0. 460 64,001, 0| 7 7V MR
169.0 100 ~  1609. 42 3. 50 0. 00 0.75

S E RS AR AT 3.25 0. 00 0. 00 0.75 152. 0 0.0 0. 152. 64, 243. 0 TAZ TV M
169. 1 42 ~  169. 0 3.25 0.00 0.75

S HR RS ACHT 3.25 4. 60 0.00 0.75 176.0 0.0 20. 196. 64,439.0|7 7TV DR
169. 3 0~  169. 100 3.25 0. 00 0.75

S E RS AR AT 3.25 0. 00 0. 00 0. 50 80. 0 0.0 0. 80. 64,519.0 TAZ 7V M
169.4 100 ~  169. 72 3.25 1. 60 0.75

S HRRBESAR AT 3.60 3.80 0.00 0.50 89.0 0.0 0. 89. 64,608.0|7 77V DR
169. 5 72 ~  169. 61 3. 60 0. 00 1. 00

S E RS AT 3. 60 2.20 0. 00 0.75 39.0 0.0 0. 39. 64, 647. 0 TAZ TV R
169.6 61 ~  169. 0 3. 60 0.00 0.75
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S E RS AT 3.25 0. 00 0. 00 0.75 197.0 0.0 0.0 197.0|  64,844.0 TAZ TV R
169. 7 0~ 169.8 100 3.25 0.00 1. 00

ZHRRBESAR AT 3.25 0.00 0.00 0.75 56.0 0.0 0.0 56.0|  64,900.0|” 77V DR
169.8 100 ~  169.9 55 3.25 0. 00 0.75

S E RS AT 3. 60 0. 00 0. 00 0.75 149. 0 0.0 0.0 149.0[  65,049.0 TAZ TV R
169.9 55 ~  170.1 0 3. 60 0.00 0.75

S HRRBEESAR AT 3.60 2.00 0.00 0.75 82.0 0.0 0.0 g2.0| 65 13107 77 DR
170. 1 0~  170.1 82 3. 60 0. 00 0.75

S E RS AT 3.50 0. 00 0. 00 0.75 113.0 0.0 0.0 113.0[  65,244.0 TAZ TV M
170. 1 82 ~  170.2 100 3.50 2.20 0.75

S HRRBEESAR AT 3.25 0.00 0.00 0. 90 27.0 0.0 0.0 o7.0| 6527107 7T DR
170.2 100 ~  170.3 24 3.25 2. 30 0.75

S E RS AR AT 3.25 0. 00 0. 00 1.00 174.0 0.0 0.0 174.0|  65,445.0 TAZ TV M
170.3 24 ~  170.5 0 3.25 2.20 0.75

S HRRBESAR AT 3.50 0.00 0.00 0.75 217.0 0.0 0.0 217.0|  65,662.07 77" DR
170.5 0~  170.7 0 3. 50 2. 00 0.75

S E RS AR AT 3.50 0. 00 0. 00 0.75 200.0 0.0 7.0 207.0  65,869.0 TAZ TV M
170.7 0~ 170.9 0 3.50 3.00 0.75

S HR RS ACHT 3.60 0.00 0.00 1. 20 127.0 0.0 0.0 127.0] 65,996 0" 77" DR
170.9 0~ 171.0 30 3. 60 2.70 0.75

S E RS AR AT 3. 60 0. 00 0. 00 1.70 70.0 0.0 0.0 70.0| 66, 066.0 TAZ 7V M
171.0 30 ~  171.0__ 100 3. 60 2.00 0.75

S HRRBESAR AT 3.25 0.00 0.00 1.75 203.0 0.0 0.0 203.0| 66,269.07 77V DR
171.0 100 ~  171.3 0 3.25 2. 00 0.75

S E RS AT 3.25 0. 00 0. 00 0.75 202.0 0.0 0.0 202.0  66,471.0 TAZ TV R
171.3 0~ 171.5 0 3.25 2. 60 0.75
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S E RS AT 3.25 0. 00 0. 00 0. 90 196. 0 0.0 0. 196. 66, 667. 0 TAZ TV R
171.5 0~ 171 100 3.25 1.70 0.75

ZHRRBESAR AT 3.25 1.85 0.00 0.75 204. 0 0.0 0. 204. 66,871.0|7 77V DR
171.6 100 ~  171. 0 3.25 2. 65 0.75

S E RS AT 3.25 0. 00 0. 00 0. 80 200.0 0.0 0. 200. 67,071.0 TAZ TV R
171.9 0~ 172 0 3.25 2.15 0.75

S HRRBEESAR AT 3.25 0.00 0.00 0.90 199.0 0.0 0. 199. 67,270.0|” 77V DR
172.1 0~ 172. 100 3.25 3. 40 0.75

S E RS AT 3.50 0. 00 0. 00 1.00 122.0 0.0 79. 201. 67,471.0 TAZ TV M
172.2 100 ~  172. 0 3.25 2.30 0.75 ‘

S HRRBEESAR AT 3.25 0.00 0.00 0.50 200. 0 0.0 0. 200. 67,671.0 ;@;ﬁéﬁ%ﬁﬁ
172.5 0~ 172. 100 3.25 2. 00 0.50

S E RS AR AT 3.25 0. 00 0. 00 0.75 195.0 0.0 0. 195. 67, 866. 0 ;@;ﬁiﬁ%ﬁﬁ
172.6 100 ~  172. 100 3.25 2.00 1.15

S HRRBESAR AT 3.25 0.00 0.00 1.05 207.0 0.0 0. 207. 68,073.0” 7TV DR
172.8 100 ~  173. 0 3.25 1.20 0.75

S E RS AR AT 3.25 0. 00 0. 00 0.75 190. 0 0.0 0. 190. 68, 263. 0 TAZ TV M
173.1 0~ 173. 0 3.25 2.00 0.75

S HR RS ACHT 3.50 0.00 0.00 1. 00 148.0 0.0 60. 208. 68,471.0|7 7TV DR
173.3 0~  173. 0 3.25 2. 00 0.75

S E RS AR AT 3.25 0. 00 0. 00 0.75 75.0 0.0 0. 75. 68, 546. 0 TAZ 7V M
173.5 0~ 173. 75 3.25 2.00 0.75

S HRRBESAR AT 3.75 0.00 0.00 0. 00 110.0 0.0 0. 110. 68, 656.0|7 7V DR
173.5 75 ~  173. 0 3.75 2. 00 0.75

S E RS AT 3.50 1.60 0. 00 0. 50 223.0 0.0 0. 223. 68, 879. 0 TAZ TV R
173.7 0~ 173. 0 3.50 2.50 0.50
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S E RS AT 3.50 0. 00 0. 00 0.75 160. 0 0.0 0.0 160.0[  69,039.0 TAZ TV R
173.9 0~ 174.0 59 3.50 1. 80 0.75

ZHRRBESAR AT 3.50 0.00 0.00 1. 50 19.0 0.0 0.0 19.0| 69,058.0]7 *7 7" DR
174.0 59 ~  174.0 78 3. 50 2. 00 0.75

S E RS AT 6. 20 0. 00 0. 00 0. 80 32.0 0.0 0.0 32.0]  69,090.0 TAZ TV R
174.0 78 ~  174.1 14 3.50 1.25 0.75

S HRRBEESAR AT 3.50 0.00 0.00 0.75 71.0 0.0 0.0 71.0| 69,1610 7TV DR
174.1 14 ~  174.1 85 3. 50 0. 00 0.75

S E RS AT 3.50 0. 00 0. 00 0.75 112.0 0.0 0.0 112.0[  69,273.0 TAZ TV M
174.1 85 ~  174.2 100 3.50 0.00 0.75

S HRRBEESAR AT 3.50 0.00 0.00 0.75 201.0 0.0 0.0 201.0| 69,474.07 7TV DR
174.2 100 ~  174.5 0 3. 50 2. 60 2.70

S E RS AR AT 3.25 0. 00 0. 00 0.75 199. 0 0.0 0.0 199.0[ 69,673.0 TAZ TV M
174.5 0~  174.7 0 3.25 1. 50 1. 00

S HRRBESAR AT 3.25 0.00 0.00 0. 90 44.0 0.0 5.0 49.0| 69,722,077 TV DR
174.7 0~  174.7 49 3.25 1. 60 0.75

S E RS AR AT 3.25 0. 00 0. 00 0. 90 36.0 0.0 0.0 36.0] 69,758.0 TAZ TV M
174.7 49 ~  174.7 85 3.25 1. 60 0.75

S HR RS ACHT 3.50 1.60 0.00 0. 90 71.0 0.0 0.0 71.0|  69,829.0|7 7TV DR
174.7 85~  174.8 54 3. 50 2. 60 0.75

S E RS AR AT 3.50 1.80 0. 00 0. 90 46. 0 0.0 0.0 46.0|  69,875.0 TAZ 7V M
174.8 54 ~  174.8 100 3.50 0.00 0.75

S HRRBESAR AT 3.25 2.55 0.00 1. 40 201.0 0.0 0.0 201.0 70,076,077 TV DR
174.8 100 ~  175.0 100 3.25 0. 00 0.75

S E RS AT 3.25 1.75 0. 00 0.75 201.0 0.0 0.0 201.0|  70,277.0 TAZ TV R
175.0 100 ~  175.2 100 3.25 0.00 0.75
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S E RS AT 3.25 2.45 0. 00 1.25 190. 0 0.0 0. 190. 70, 467. 0 TAZ TV R
175.2 100 ~  175. 0 3.25 0.00 0.75

ZHRRBESAR AT 3.25 2.50 0.00 0.75 208. 0 0.0 0. 208. 70,675.0|7 7 TV DR
175.5 0~  175. 0 3.25 0. 00 0.75

S E RS AT 3.25 2.20 0. 00 0.75 194. 0 0.0 4. 198. 70, 873. 0 TAZ TV R
175.7 0~ 175. 100 3.25 0.00 0.75

S HRRBEESAR AT 3.25 1. 20 0.00 0.75 200. 0 0.0 0. 200. 71,073.07 7TV DR
175.8 100 ~  176. 0 3.25 0. 00 0.75

S E RS AT 3.25 2.30 0. 00 0.75 194. 0 0.0 0. 194. 71, 267.0 TAZ TV M
176. 1 0~ 176. 100 3.25 0.00 0.75

S HRRBEESAR AT 3.25 2.00 0.00 0.75 88.0 0.0 14. 102. 71,369.0|7 7TV DR
176.2 100 ~  176. 94 3.25 2.55 0.75

S E RS AR AT 3.70 2. 00 0. 00 2. 00 100. 0 0.0 11. 111. 71, 480. 0 TAZ TV M
176.3 94 ~ 176. 100 3.70 2.20 0.75

S HRRBESAR AT 3.25 2.05 0.00 0.75 110.0 0.0 0. 110. 71,590.0|7 7TV DR
176.4 100 ~  176. 19 3.25 0. 00 1. 00

S E RS AR AT 3.50 2.20 0. 00 0.75 81.0 0.0 0. 8. 71,671.0 TAZ TV M
176.6 19 ~  176. 100 3.50 0.00 3.00

S HR RS ACHT 3.25 2.00 0.00 0.75 174.0 0.0 0. 174. 71,845.0|7 7TV DR
176.6 100 ~  176. 60 3.25 0. 00 1.85

S E RS AR AT 3.25 2. 00 0. 00 0.75 20.0 0.0 0. 20. 71, 865.0 ;@;ﬁiﬁ%ﬁﬁ
176.8 60 ~  176. 0 3.25 0.00 0.75 ‘

S HRRBESAR AT 3.50 2.00 0.00 1. 20 104. 0 0.0 41. 145. 72,010. 0 ;@;ﬁéﬁ%ﬁﬁ
176.9 0~  171. 35 3. 50 0. 00 0.75

S E RS AT 3.50 0. 00 0. 00 0.75 60. 0 0.0 0. 60. 72, 070. 0 TAZ TV R
177.0 35 ~ 177. 0 3.50 2.50 0.75
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S E RS AT 3.25 0. 00 0. 00 1.20 151.0 0.0 3. 154. 72, 224.0 TAZ TV R
177.1 0~ 177 47 3.25 1. 80 0.75

ZHRRBESAR AT 3.25 0.00 0.00 0.75 48.0 0.0 0. 48. 79,212.0|7 X7 TV DR
177.2 47~  171. 0 3. 50 1.80 0.75

S E RS AT 3.50 0. 00 0. 00 0.75 203.0 0.0 0. 203. 72,475.0 TAZ TV R
177.3 0~ 177 100 3.50 2.45 2.50

S HRRBEESAR AT 3.25 0.00 0.00 0.75 121.0 0.0 0. 121. 72,596.0|7 7 TV DR
177.4 100 ~  177. 21 3.25 1.65 1.05

S E RS AT 3.25 0. 00 0. 00 1.20 40. 0 0.0 0. 40. 72, 636. 0 TAZ TV M
177.6 21 ~  177. 61 3.25 1. 80 0.75

S HRRBEESAR AT 3.50 0.00 0.00 1. 00 34.0 0.0 5. 39. 72,675.0|7 7 TV DR
177.6 61 ~  171. 100 3. 50 3. 00 0.75

S E RS AR AT 3.25 0. 00 0. 00 0.75 201.0 0.0 0. 201. 72, 876. 0 TAZ TV M
177.6 100 ~  177. 0 3.25 1. 60 0.75

S HRRBESAR AT 3.25 0.00 0.00 0.75 199. 0 0.0 0. 199. 73,075.0|7 7 TV DR
177.9 0~  178. 100 3.25 0. 00 0.75

S E RS AR AT 3.25 0. 00 0. 00 0.75 73.0 0.0 0. 73. 73, 148.0 TAZ TV M
178.0 100 ~  178. 71 3.25 0.00 1. 00

S HR RS ACHT 3.25 0.00 0.00 0.75 23.0 0.0 2. 25. 73,173.0|7 7 TV DR
178.1 71 ~  178. 7 3.25 0. 00 1. 00

S E RS AR AT 3.50 0. 00 0. 00 0.75 75.0 0.0 18. 93. 73, 266. 0 TAZ 7V M
178.2 7~ 178. 100 3.50 0.00 0.75

S HRRBESAR AT 3.25 0.00 0.00 0.75 185.0 0.0 19. 204. 73,470.0|7 X7 TV DR
178.2 100 ~  178. 0 3.25 0. 00 0.75

S E RS AT 3.25 0. 00 0. 00 1.00 202.0 0.0 0. 202. 73,672.0 TAZ TV R
178.5 0~  178. 100 3.25 0.00 1. 20
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S E RS AT 3.25 0. 00 0. 00 0.75 66. 0 0.0 0. 66. 73,738.0 TAZ TV R
178.6 100 ~  178. 65 3.25 0.00 0.75

ZHRRBESAR AT 3.25 0.00 0.00 1. 00 136.0 0.0 0. 136. 73,874.0|7 7TV DR
178.7 65 ~  178. 100 3.25 0.00 0.75

S E RS AT 3.50 0. 00 0. 00 0.75 31.0 46. 0 0. 77. 73,951.0 TAZ TV R
178.8 100 ~  178. 65 3.50 0.00 0.75

S HRRBEESAR AT 3.50 0.00 0.00 0. 00 0.0 45.0 0. 45, 73,996.0|” 7 7V DR
178.9 65 ~  179. 18 3.50 0.00 0. 00 \

SRR RRCAT 3.25 0. 00 0. 00 0. 50 0.0 6.0 0. 6. 74, 002. 0 Zf; fjf tig;
179.0 18 ~  179. 24 3.25 0.00 0.50

S ERAC AR R kAT 3.25 0. 00 0. 00 0.50 3.0 73.0 0. 76. 74,078.0 Ziz ;f ti@ﬁ
179. 0 24 ~ 179, 100 3.25 0.00 0.50 _

= E LR SRR RS ALRT 3.25 0. 00 0. 00 0. 50 90. 0 0.0 0. 90. 74,168. 0 Zf;gf tigiﬁ
179.0 100 ~  179. 95 3.25 0.00 0.50

ZHEBALRERALALRT 3.20 0. 00 0.15 1.00 79.0 0.0 32. 111. 74,279.0 T AT 7V b
179. 1 95 ~  179. 100 3.25 0.00 1.05

=LA SRR AT 3.20 0. 00 0.15 0. 60 192.0 0.0 0. 192. 74,471.0 TAZ TV M
179.2 100 ~  179. 100 3.30 0.00 1. 00

ZHEBALARERALALRT 7.00 0. 00 0.00 0. 00 197.0 0.0 0. 197. 74, 668. 0 T AT 7 b
179.4 100 ~ 179, 100 3.25 0.00 1.25

=LA SRR AT 3.35 0. 00 0. 00 0.55 204.0 0.0 0. 204. 74, 872.0 TAZ 7V M
179.6 100 ~  179. 100 9.50 0.00 0.00

ZHEBALRERALALRT 3.85 0. 00 0.00 0.55 192.0 0.0 0. 192. 75, 064. 0 T AT 7 b
179.8 100 ~  180. 100 3.85 0.00 1.15

=R AR SRR AT 3.35 0. 00 0. 00 0.55 187.0 0.0 0. 187. 75,251. 0 TAZ TV R
180.0 100 ~  180. 100 3. 40 0.00 2.00
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= HE AR SRR AT 4. 50 0. 00 0. 00 2. 40 193.0 0.0 0. 193. 75, 444. 0 TAZ TV R
180.2 100 ~  180. 100 4.50 0.00 1. 00

ZHEBALRERALALRT 7.80 0. 00 0.15 0. 00 170.0 0.0 33. 203. 75, 647.0 T AT 7 b
180.4 100 ~  180. 100 3.40 0.00 1. 20

= HE AR SRR A AT 7.20 0. 00 0. 00 0. 00 142.0 0.0 71. 213. 75, 860. 0 TAZ TV R
180.6 100 ~  180. 100 3. 45 0.00 0.95

ZHEBALARERALALRT 3.20 0. 00 0.00 1.00 188.0 0.0 0. 188. 76, 048. 0 T AT 7 b
180.8 100 ~ 181, 100 3.30 0.00 0. 90

= HE AR SRR A AT 9.20 0. 00 0. 00 0. 00 225.0 0.0 0. 225. 76, 273.0 TAZ TV M
181.0 100 ~  18I. 100 3.70 0.00 1. 00

ZHEBALRERALALRT 8.30 0. 00 0.00 0. 00 167.0 0.0 0. 167. 76, 440. 0 T AT 7 b
181.2 100 ~ 181, 100 3. 60 0.00 1. 00

=LA SRR AT 7.40 0. 00 0. 00 0. 00 189. 0 0.0 0. 189. 76, 629. 0 TAZ TV M
181.4 100 ~  181. 100 3.50 0.00 0.90

ZHEBALRERALALRT 3.25 0. 00 0.00 0.50 208. 0 0.0 0. 208. 76, 837.0 T AT 7V b
181.6 100 ~ 181, 100 3.50 0.00 1. 00

=LA SRR AT 3.25 0. 00 0. 00 0.55 198.0 0.0 0. 198. 77,035.0 TAZ TV M
181.8 100 ~  182. 100 3.25 0.00 0.55

ZHEBALARERALALRT 3.45 0. 00 0.00 0.95 197.0 0.0 0. 197. 77,232.0 T AT 7 b
182.0 100 ~ 182 100 3. 60 0.00 1. 10

=LA SRR AT 6. 40 0. 00 0. 00 0. 80 197.0 0.0 0. 197. 77,429.0 TAZ 7V M
182.2 100 ~  182. 100 3.25 0.00 1.35

ZHEBALRERALALRT 3.25 0. 00 0.15 1.05 192.0 0.0 10. 202. 77,631.0 T AT 7 b
182.4 100 ~ 182 100 3.25 0.00 1.05

=R AR SRR AT 3.50 0. 00 0.15 0. 60 176.0 0.0 0. 176. 77,807.0 TAZ TV R
182.6 100 ~  182. 100 3.50 0.00 0.50
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= HE AR SRR AT 3.25 3.10 0. 00 0.85 228.0 0.0 0. 228. 78, 035. 0 TAZ TV R
182.8 100 ~  183. 100 3.25 0.00 1.15

ZHEBALRERALALRT 3.25 3.00 0.00 0.75 146.0 0.0 29. 175. 78, 210. 0 T AT 7 b
183.0 100 ~ 183, 100 3.25 0.00 0.95

= HE AR SRR A AT 3.25 2. 80 0. 00 0.85 194. 0 0.0 0. 194. 78, 404. 0 TAZ TV R
183.2 100 ~  183. 100 3.25 3.00 0.80

ZHEBALARERALALRT 8. 60 0. 00 0.00 0. 00 205. 0 0.0 5. 210. 78, 614.0 T AT 7 b
183.4 100 ~ 183, 100 6.35 3.00 0.75 \

= E AL AR R AT 3.25 2.00 0. 00 1.65|  176.0 0.0 0. 176. 78, 790.0 Zf;gf tig;
183.6 100 ~  183. 100 3.25 0.00 0.85

ZHEBALRERALALRT 3.25 2.94 0.00 0.75 109.0 0.0 0. 109. 78, 899. 0 T AT 7 b
183.8 100 ~ 183, 100 3.25 2. 40 0.75

=LA SRR AT 3.25 2. 40 0. 00 0.85 102. 0 0.0 0. 102. 79, 001. 0 TAZ TV M
183.9 100 ~  184. 100 3.25 0.00 2.80

ZHEBALRERALALRT 3.25 2.70 0.00 0.85 183.0 0.0 0. 183. 79, 184.0 T AT 7V b
184.0 100 ~ 184, 100 3.25 2.65 0. 80

=LA SRR AT 3.25 2.10 0. 00 1.69 217.0 0.0 5. 222. 79, 406. 0 TAZ TV M
184.2 100 ~  184. 100 3.25 3.48 0.70

ZHEBALARERALALRT 3.25 0. 00 0.00 0.86 38.0 166. 0 0. 204. 79, 610. 0 T AT 7 b
184.4 100 ~ 184, 100 3.25 0.00 0. 86 \

= E AL AR R AT 3.25 0. 00 0. 00 1.58]  114.0 83.0 0. 197. 79,807.0 Zf;gf tig;
184.6 100 ~  184. 100 3.25 0.00 1.66

ZHEBALRERALALRT 3.25 0. 00 0.00 1.50 177.0 0.0 0. 177. 79, 984. 0 T AT 7 b
184.8 100 ~ 185, 100 3.25 2.53 0. 70

=R AR SRR AT 3.25 2. 46 0. 00 0.75 202.0 0.0 0. 202. 80, 186. 0 TAZ TV R
185.0 100 ~  185. 100 3.25 2.25 0.75
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= HE AR SRR AT 3.25 2.10 0. 00 1.05 202.0 0.0 8. 210. 80, 396. 0 TAZ TV R
185.2 100 ~  185. 100 3.25 2.05 1. 00

ZHEBALRERALALRT 3.00 0. 00 0.00 0.50 44.0 0.0 155. 199. 80, 595. 0 T AT 7 b
185.4 100 ~ 185, 100 3.50 1.77 0. 50

= HE AR SRR A AT 3.50 0. 00 0. 00 0. 80 189. 0 0.0 5. 194. 80, 789. 0 TAZ TV R
185.6 100 ~  185. 100 3.50 0.00 1. 00

ZHEBALARERALALRT 3.50 0. 00 0.00 0.77 153.0 0.0 46. 199. 80, 988. 0 T AT 7 b
185.8 100 ~  186. 100 3.50 1.70 1.15

= HE AR SRR A AT 3.25 0. 00 0. 00 0.85 54.0 150. 0 0. 204. 81,192.0 TAZ TV M
186.0 100 ~  186. 100 3.25 0.00 0.85

S ERAC AR R kAT 3.25 0. 00 0. 00 0.85 0.0  198.0 0. 198. 81,390.0 Ziz ;f ti@ﬁ
186.2 100 ~  186. 100 3.25 0.00 0.85 _

= E LR SRR RS ALRT 3.25 0. 00 0. 00 0.85 50.0|  147.0 0. 197. 81, 587.0 Zf;gf tigiﬁ
186.4 100 ~  186. 100 3.25 0.00 0.85

ZHEBALRERALALRT 6. 40 2.24 0.00 0. 00 227.0 0.0 0. 2217. 81,814.0 T AT 7V b
186.6 100 ~  186. 100 3.25 0.00 0.57

=LA SRR AT 3.25 1.80 0. 00 0.75 169. 0 0.0 0. 169. 81, 983.0 TAZ TV M
186.8 100 ~  187. 100 3.25 0.00 1.45

ZHEBALARERALALRT 3.25 2.20 0.00 0.50 193.0 0.0 0. 193. 82, 176. 0 T AT 7 b
187.0 100 ~  187. 100 3.25 0.00 1. 00

=LA SRR AT 3.25 2.30 0. 00 0.51 206. 0 0.0 0. 206. 82, 382. 0 TAZ 7V M
187.2 100 ~  187. 100 3.25 0.00 1.18

ZHEBALRERALALRT 3.25 2.00 0.00 0.75 198.0 0.0 0. 198. 82, 580. 0 T AT 7 b
187.4 100 ~  187. 100 3.25 0.00 0.75

=R AR SRR AT 3.25 2.30 0. 00 0.75 177.0 0.0 28. 205. 82, 785. 0 TAZ TV R
187.6 100 ~  187. 100 3.25 0.00 0.93
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= HE AR SRR AT 3.25 6. 98 0. 00 0.75 199. 0 0.0 0. 199. 82, 984. 0 TAZ TV R
187.8 100 ~  188. 100 3.25 0.00 0.75

ZHEBALRERALALRT 5.75 2.30 0.00 0. 00 196.0 0.0 0. 196. 83, 180. 0 T AT 7 b
188.0 100 ~ 188, 100 3.25 0.00 1. 62

= HE AR SRR A AT 3.25 2.19 0. 00 0.70 199. 0 0.0 0. 199. 83, 379. 0 TAZ TV R
188.2 100 ~  188. 100 3.25 0.00 1.58

ZHEBALARERALALRT 3.25 2.55 0.00 0.78 199.0 0.0 0. 199. 83,578.0 T AT 7 b
188.4 100 ~ 188, 100 3.25 0.00 0. 65

= HE AR SRR A AT 3.25 0. 00 0. 00 0.85 116.0 87.0 0. 203. 83, 781. 0 TAZ TV M
188.6 100 ~  188. 100 3.25 0.00 0.75

S ERAC AR R kAT 3.25 0. 00 0. 00 0.85 0.0  199.0 0. 199. 83, 980.0 Ziz ;f ti@ﬁ
188.8 100 ~ 189, 100 3.25 0.00 0.85 _

= E LR SRR RS ALRT 3.25 0. 00 0. 00 1.00[  104.0 95.0 0. 199. 84,179. 0 Zf;gf tigiﬁ
189.0 100 ~  189. 100 3.25 0.00 1. 00

ZHEBALRERALALRT 3.25 0. 00 0.00 1. 40 205. 0 0.0 0. 205. 84, 384.0 T AT 7V b
189.2 100 ~ 189, 100 3.25 0.00 1. 00

=LA SRR AT 3.25 0. 00 0. 00 0. 80 189. 0 0.0 0. 189. 84, 573.0 TAZ TV M
189.4 100 ~  189. 100 3.25 0.00 0.87

ZHEBALARERALALRT 3.25 0. 00 0.15 1.25 207.0 0.0 0. 207. 84, 780. 0 T AT 7 b
189.6 100 ~ 189, 100 3.25 0.00 0.97

=LA SRR AT 3.25 3.00 0. 00 0.85 183.0 0.0 7. 190. 84, 970. 0 TAZ 7V M
189.8 100 ~  190. 100 6.20 0.00 1. 00

ZHEBALRERALALRT 3.25 3.50 0.00 0.95 200. 0 0.0 0. 200. 85, 170. 0 T AT 7 b
190.0 100 ~  190. 100 3.25 2.10 0. 90

=R AR SRR AT 3.25 3.40 0.15 1.15 206. 0 0.0 0. 206. 85, 376. 0 TAZ TV R
190.2 100 ~  190. 100 3.25 0.00 1.77
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= HE AR SRR AT 3.25 0. 00 0.15 0. 87 8.0 191.0 0. 199. 85, 575. 0 TAZ TV R
190.4 100 ~  190. 100 3.25 0.00 0.87

S ERAC AR R kALY 3.25 0. 00 0. 00 0.75|  156.0 45.0 0. 201. 85, 776. 0 Ziz ;f tfﬁﬁ
190.6 100 ~  190. 100 3.25 0.00 2.20

= HE AR SRR A AT 3.25 3.38 0. 00 1.83 197.0 0.0 0. 197. 85,973.0 TAZ TV R
190.8 100 ~  191. 100 3.25 0.00 1.35

ZHEBALARERALALRT 3.25 2.79 0.00 0.65 198.0 0.0 0. 198. 86, 171.0 T AT 7 b
191.0 100 ~ 191, 100 3.25 0.00 1.95

= HE AR SRR A AT 3.25 3.00 0. 00 0. 90 197.0 0.0 0. 197. 86, 368. 0 TAZ TV M
191.2 100 ~  191. 100 3.25 0.00 2.82

ZHEBALRERALALRT 3.25 3.00 0.15 1.20 202. 0 0.0 0. 202. 86, 570. 0 T AT 7 b
191.4 100 ~ 191, 100 3.25 0.00 1.59

=LA SRR AT 3.25 3.20 0.15 1.38 202.0 0.0 0. 202. 86, 772. 0 ;@;ﬁiﬁ%ﬁﬁ
191.6 100 ~  191. 100 3.50 0.00 2.43

ZHEBALRERALALRT 3.25 3.50 0.15 1.12 133.0 67.0 0. 200. 86, 972. 0 T AT 7V b
191.8 100 ~ 192 100 3.25 0.00 1.82 \

= E AL AR R AT 3.25 4.50 0.15 0.92 0.0[  200.0 0. 200. 87,172.0 Zf;gf tig;
192.0 100 ~  192. 100 3.25 0.00 0.92

S ERAC AR R kAT 3.25 4.25 0.15 1.55|  115.0 87.0 0. 202. 87,374.0 Ziz ;f ti@ﬁ
192.2 100 ~ 192 100 3.25 0.00 1. 64

=LA SRR AT 3.25 3.50 0. 00 1.80 193.0 0.0 0. 193. 87, 567. 0 TAZ 7V M
192.4 100 ~  192. 100 3.25 0.00 1. 09

ZHEBALRERALALRT 3.25 3.60 0.00 0.75 198.0 0.0 0. 198. 87, 765. 0 T AT 7 b
192.6 100 ~ 192 100 3.25 0.00 0. 80

=R AR SRR AT 3.25 3.50 0. 00 0.75 211.0 0.0 0. 211. 87,976. 0 TAZ TV R
192.8 100 ~  193. 100 3.25 0.00 1. 07
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= HE AR SRR AT 3.25 3.80 0. 00 0. 80 196. 0 0.0 0. 196. 88, 172.0 TAZ TV R
193.0 100 ~  193. 100 3.25 0.00 0.75

ZHEBALRERALALRT 3.25 2.51 0.00 0.75 189.0 0.0 20. 209. 88, 381.0 T AT 7 b
193.2 100 ~ 193, 100 3.25 0.00 0. 69

= HE AR SRR A AT 3.25 0. 00 0.15 0.95 199. 0 0.0 0. 199. 88, 580. 0 TAZ TV R
193.4 100 ~  193. 100 3.25 0.00 0.92

= B R R ALAT 3. 25 0. 00 0.15 Lot| 1880 0.0 0. 188.0| 88, 768. 0|7 7 7V MR
193.6 100 ~ 193, 100 3.25 0.00 1. 07

= HE AR SRR A AT 3.25 0. 00 0.15 0. 86 206. 0 0.0 0. 206. 88,974. 0 TAZ TV M
193.8 100 ~  194. 100 3.25 0.00 1. 00

ZHEBALRERALALRT 3.25 0. 00 0.15 1.35 179.0 0.0 19. 198. 89, 172.0 T AT 7 b
194.0 100 ~ 194, 100 3.25 0.00 0. 86

=LA SRR AT 3.25 0. 00 0.15 0.75 199. 0 0.0 0. 199. 89, 371. 0 TAZ TV M
194.2 100 ~  194. 100 3.25 0.00 1.75

= B R R ALAT 3. 25 0. 00 0.15 0.75|  213.0 0.0 0. 213.0| 89, 584.0|7 X7 7V M
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